# Browning Public Schools Board Agenda Request

Meeting To Be Held: 8/8/17





## **Houghton Mifflin Harcourt**

Cost Proposal Prepared For

## **Browning School District 9**

129 1st Ave SE Browning MT 59417

For the Purchase of:

### Decisions For Health 2009

You can fax your PO with this cost proposal to customer service at 800-269-5232. Please email me when you have submitted

This Proposal contains Product that will be fulfilled through Follett Education Services

Prepared By
Dan Spezzano
dan.spezzano@hmhco.com

PLEASE SUBMIT THIS PROPOSAL WITH YOUR PURCHASE ORDER.



006347904

★ Represents Follett Exclusive Title Attention: Jeri Matt jerim@bps.k12.mt.us

**HMH Confidential and Proprietary** 

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhpub.com Proposal Date: 7/14/2017 Proposal for Expiration Date:8/28/2017

### **Browning School District 9 Decisions For Health 2009**

	Decisions For	Healti	2009			
			Sale	Purc	hase	Complimentary
	SBN Title		Price	Quantity	Amount	Quantity
Decis	ions for Health 2009Grade 6					
5	Student Resources					
166389	9780030961564 Student Edition	*	\$73.40	30	\$2,202.00	
170750	9780030999758 Interactive Online Edition (6-year subscription)	21	\$55.10	n. e		30
	tive version of the complete Student Edition online. Includes student book page tations, activities, tools, and resources, including Holt Online Assessment and o				on.	
170819	9780030999987 Decision-Making and Refusal Skills Workbook		\$9.15	30	\$274.50	
	Green					
1	Total for Student Resources				\$2,476.50	
1	Teacher Resources					
400000	G700000045057		2400.00		2000 40	
166398	9780030961595 Teacher's Edition		\$100.20	2	\$200.40	
170767	9780030999819 Teacher's One-Stop Planner DVD		\$156.00			2
	er planning tool contains electronic formats of English and Spanish print ancillari fiew® Version 5 Assessment Suite (including Test Generator), Test Item Listing,			_	-	
	ızzlePro®, Holt Calendar Planner, MindPoint® Quiz Show, and PowerNotes® P		,			
205528	9780554005898 VideoHealth DVD		\$272.60			2
203953	9780554000404 Teaching Transparencies		\$189.00			2
170786	9780030999871 Chapter Resources		\$164.60			2
203956	9780554000411 Guided Reading Audio Program		\$105.15			2
	Green		<b>\$100.10</b>			2
	Total for Teacher Resources				\$200.40	
	Green				\$200.40	
	I for Decisions for Health 2009Grade 6				\$2,676.90	
Decis	ions for Health Grade 7					
5	Student Resources					
166392	9780030961571 Student Edition		\$73.40	30	\$2,202.00	
170753		*	\$75.40 \$55.10	30	\$2,202.00	30
170753	9780030999765 Interactive Online Edition ((6-year subscription)) 9780030999994 Decision-Making and Refusal Skills Workbook		\$9.90	30	\$297.00	30
	_		90.00		,	
	Total for Student Resources				\$2,499.00	
1	Teacher Resources					
166401	9780030961601 Teacher's Edition		\$100.20	1	\$100.20	
170770	9780030999826 Teacher's One-Stop Planner DVD		\$156.00			1
	er planning tool contains electronic formats of English and Spanish print ancillari	es, editable wo	rksheets, edi	table lesson p	lans,	
	iew® Version 5 Assessment Suite (including Test Generator), Test Item Listing,		ites, Interacti	ve Teacher's l	Edition,	
Holt Pu	zzlePro®, Holt Calendar Planner, MindPoint® Quiz Show, and PowerNotes® P	resentations				
205642	9780554006291 VideoHealth DVD		\$272.60			1
170789	9780030999888 Chapter Resources		\$189.00			1
204065	9780554000800 Teaching Transparencies		\$190.40			1
204069	9780554000817 Guided Reading Audio Program		\$111.65			1
	Total for Teacher Resources				\$100.20	
1						
	for Decisions for Health Grade 7				\$2,599.20	

**Houghton Mifflin Harcourt** 

006347904

\* Represents Follett Exclusive Title Attention: Jeri Matt jerim@bps.k12.mt.us

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhpub.com

Proposal Date: 7/14/2017

#### Proposal for Browning School District 9 Decisions For Health 2009

Decisions For Health 2009						
			Sale	Puro	hase	Complimentary
	SBN Title		Price	Quantity	Amount	Quantity
Decis	ions for Health Grade 8					
5	Student Resources					
1166395	9780030961588 Student Edition	*	\$73.40	30	\$2,202.00	
1170755	9780030999772 Interactive Online Edition (6-year subscription)		\$55.10			30
1203843	9780554000008 Decision-Making and Refusal Skills Workbook		\$10.65	30	\$319.50	
1	Total for Student Resources				\$2,521.50	
1	Feacher Resources					
1166403	9780030961618 Teacher's Edition		\$100.20	1	\$100.20	
1170773	9780030999833 Teacher's One-Stop Planner DVD		\$156.00			1
ExamV	er planning tool contains electronic formats of English and Spanish print ancillarie fiew® Version 5 Assessment Suite (including Test Generator), Test Item Listing, I szzlePro®, Holt Calendar Planner, MindPoint® Quiz Show, and PowerNotes® Pre	inks to Web si			*	
1204307	9780554001654 VideoHealth DVD		\$272.60			1
1170792	9780030999895 Chapter Resources		\$236.20			1
1204179	9780554001203 Teaching Transparencies		\$191.70			1
1204182	9780554001210 Guided Reading Audio Program		\$118.10			1
1	Total for Teacher Resources				\$100.20	

You can fax your PO with this cost proposal to customer service at 800-269-5232. Please email me when you have submitted it to verify receipt.

Proposal Summary			
	Subtotal Purchase Amount:	\$7,897.80	
	Shipping & Handling (5.00%):	\$394.89	
	Total Cost of Proposal (PO Amount):	\$8,292.69	



Total for Decisions for Health Grade 8

\* Represents Follett Exclusive Title
Attention:
Jeri Matt
jerim@bps.k12.mt.us
HMH Confidential and Proprietary

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhpub.com

\$2,621.70

Expiration Date:8/28/2017

Proposal Date: 7/14/2017

#### Proposal for Browning School District 9 Decisions For Health 2009

Expiration Date:8/28/2017

Total Cost of Proposal (PO Amount): \$8,292.69

This is a cost proposal only.

This cost proposal is subject to HMH's Standard Terms and Conditions ("Ts & Cs") below:

<a href="mailto:shiftp://www.hmhco.com/common/terms-conditions">http://www.hmhco.com/common/terms-conditions</a>

Ts & Cs are also found on HMH invoices.

HMH reserves the right to modify its Ts & Cs from time to time and agrees to notify you prior to such modifications becoming effective.

Date of Proposal: 7/14/2017 Proposal Expiration Date:8/28/2017



## **Houghton Mifflin Harcourt**



★ Represents Follett Exclusive Title Attention: Jeri Matt jerim@bps.k12.mt.us

**HMH Confidential and Proprietary** 

Customer Experience 9205 South Park Center Loop Orlando, FL 32819 FAX: 800-269-5232 k12orders@hmhpub.com